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01 RXESHMA2E = 44,522,000 41,542,000 2,980,000
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= 32,523,000 31,602,000 921,000
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O28YT 2422 SN +2 240
NEED) 95,000 100,000 25,000
307 BI2HOI 2,850 3,000 A150
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403 RHXI SIS KH2 0 56,000 58,000 A2,000
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01 RXISHKZEE 56,000 58,000 A2,000
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=2 56,000 58,000 A2,000
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z 855,000 855,000 0
= 60,000 0 60,000
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3 855,000 855,000 0
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01 MUXISMAZ2E = 915,000 855,000 60,000
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200,000,000 *30% 60,000 0 60,000
LN A a=EAE SSAHY 11,095,000 0 11,095,000
= 10,129,000 0 10,129,000
S 966,000 0 966,000
403 XX HMEAH=01H 11,095,000 0 11,095,000
= 10,129,000 0 10, 129,000
L= 966,000 0 966,000
01 AXESMA2E = 11,095,000 0 11,095,000
OFMALMT A a=E AL SSAY 11,095,000 0 11,095,000
= 10,129,000 0 10,129,000
= 966,000 0 966,000
L I FH2ACAIAE AEAY 2,863,000 0 2,863,000
= 2,863,000 0 2,863,000
403 XXM SA=01H 2,863,000 0 2,863,000
= 2,863,000 0 2,863,000
01 AXIEMA=2ExX 2,863,000 0 2,863,000
O 2t ZIH2ALAAHE A= 2,863,000 0 2,863,000
& 2,863,000 0 2,863,000
Megs(=Zateln) 1,066,374 1,062,500 3,874
NS 3,874 0 3,874
I NEXEtEzg 3,874 0 3,874
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01 AtER22/Hl 30,780 32,400 A 1,620
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